
SAP ABAP table FC05U92LST {Reclassification Methods - List processor output}

FC05U92LST

RVERS [CHAR (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

RDIMEN [CHAR (2)]

RBUNIT [CHAR (18)]

RITCLG [CHAR (2)]

RITEM [CHAR (10)]

SITYP [CHAR (3)]

SUBIT [CHAR (10)]

RBUPTR [CHAR (18)]

DOCTY [CHAR (2)]

RCONGR [CHAR (18)]

COICU [CHAR (18)]

CNTRY [CHAR (3)]

RCOMP [CHAR (6)]

GSBER_KONS [CHAR (4)]

KOKRS [CHAR (4)]

PRCTR [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 FC05U92LST-PRCTR = CEPC-PRCTR 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 FC05U92LST-CNTRY = T005-LAND1 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 FC05U92LST-RUNIT = T006-MSEHI 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 FC05U92LST-RCOMP = T880-RCOMP 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FC05U92LST-RTCUR = TCURC-WAERS 
0..N

0..N

TF100

MANDT [CLNT (3)]

ITCLG [CHAR (2)]

ITEM [CHAR (10)]

 FC05U92LST-RITEM = TF100-ITEM 
0..N

0..N

TF110

MANDT [CLNT (3)]

SITYP [CHAR (3)]

 FC05U92LST-SITYP = TF110-SITYP 
0..N

0..N

TF115

MANDT [CLNT (3)]

SITYP [CHAR (3)]

SITEM [CHAR (10)]

 FC05U92LST-SUBIT = TF115-SITEM 0..N

0..N

TF120

MANDT [CLNT (3)]

ITCLG [CHAR (2)]

 FC05U92LST-RITCLG = TF120-ITCLG 
0..N

0..N

TF150

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

 FC05U92LST-RDIMEN = TF150-DIMEN 

0..N

0..N

TF160

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

BUNIT [CHAR (18)]

 FC05U92LST-COICU = TF160-BUNIT 

0..N

0..N

 FC05U92LST-RBUNIT = TF160-BUNIT 

0..N

0..N

 FC05U92LST-RBUPTR = TF160-BUNIT 

0..N

0..N

TF180

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

CONGR [CHAR (18)]

 FC05U92LST-RCONGR = TF180-CONGR 

0..N

0..N

TF200

MANDT [CLNT (3)]

RVERS [CHAR (3)]

 FC05U92LST-RVERS = TF200-RVERS 

0..N

0..N

TF500

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

DOCTY [CHAR (2)]

 FC05U92LST-DOCTY = TF500-DOCTY 

0..N

0..N

TGSBK

MANDT [CLNT (3)]

GSBER_KONS [CHAR (4)]

 FC05U92LST-GSBER_KONS = TGSBK-GSBER_KONS 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 FC05U92LST-KOKRS = TKA01-KOKRS 

0..N

0..N


